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Seat No.: ________                                                           Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER – I/II • EXAMINATION – SUMMER- 2016 

 

Subject Code: 3326304 Date: 07/06/2016      

Subject Name: Engineering Mechanics 

Time: 10:30 AM TO 01:00 PM Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 
 

Q.1  Answer any seven out of ten. દળભ ાંથી કોઇ઩ણ વ તન  જલ ફ આ઩ો. 14 

 1.  Define Statics and Dynamics.  

 ૧. સ્થથતતળ સ્ત્ર અને ગતતળ સ્ત્રની વ્મ ખ્મ  રખો.  

 2. Define Engineering Mechanics  

 ૨. ઈજનેયી માંત્રતલજ્ઞ નની વ્મ ખ્મ  રખો.  

 3. What is the unit of Power and Force?  

 ૩. ઩ લય અને ફ઱ન  એકભ રખો.  

 4. Define Weight and Mass.  

 ૪. લજન અને દ્રવ્મભ નની વ્મ ખ્મ  રખો.  

 5. Define Bending Moment  

 ૫. ફેન્ડીંગ ભોભેન્ટ ની વ્મ ખ્મ  રખો.  

 6. Write different type of load.  

 ૬. બ ય ન  પ્રક ય રખો.  

 7. Write any two vector quantities.  

 ૭. ગભે તે ફે વદદળ ય તળન  ઉદ શયણ રખો.  

 8. Define axis of reference.  

 ૮. અનવુાંધ ન અક્ષ ની વ્મ ખ્મ  રખો.  

 9. Define Coplanar Force.  

 ૯. વભતરીમ ફ઱ોની વ્મ ખ્મ  રખો.  

 10. Define Shear Force  

 ૧૦. નભનધણુણ ની વ્મ ખ્મ  રખો.  

    
Q.2 (a) Explain law of parallelogram of force. 03 

પ્રશ્ન. ર (અ) વભ ાંતયફ જુ ચતષુ્કોણનો તનમભ રખો અને વભજાલો. ૦૩ 

  OR  

 (a) Two forces 20N and 30N both tensile are acting at an angle 60º between 

them. Find magnitude and direction of the resultant force. 
03 

 (અ) ફે ખેંચ ણફ઱ો ૨૦KN અને 30KN એક બફિંદુ આગ઱ 60° ન  ખણેુ ક મણયત છે. 
તો ઩યીણ તભ ફ઱ન ુમલુ્મ અને દદળ  ળોધો. 

૦૩ 

 (b) Explain lamis theorem. 03 
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 (ફ) ર ભીન ુપ્રભેમ રખો અને વભજાલો. ૦૩ 

  OR  

 (b) Find magnitude and direction of resultant force for figure 1. 03 

 (ફ) આક્રતત.૧ ભ ાં દળ ણલેર ફ઱ ઩ધ્ધતત ભ ટે ઩યીણ તભ ફ઱ન ુ મલુ્મ અને દદળ  
ળોધો. 

૦૩ 

 (c) Write difference between centroid and center of gravity. 04 

 (ક) કે્ષત્ર કેન્દ્ર અને ગરુુત્લ કેન્દ્ર લચ્ચે તપ લત રખો.   ૦૪ 

  OR  

 (c) Find centroid of lamina as shown in figure 2. 04 

 (ક) આક્રતત.૨ ભ ાં દળ ણલેર તકતતન ુભધ્મકેન્દ્ર ળોધો? ૦૪ 

 (d) Explain parallel axis theorem. 04 

 (ડ) વભ ાંતય અક્ષ પ્રભેમ રખો અને વભજાલો. ૦૪ 

  OR  

 (d) Find moment of inertia for ‘I’ section consists of top and bottom flange 

80mm×10mm and web of size 10mm×200mm. 
04 

 (ડ) એક ‘ I ‘ વેક્ળનની ઉ઩રી અને નીચરી ફ્રેન્જ 80mm x 10mm તથ  લેફ 
10mm x 200mm છે. આ વેક્ળન ભ ટે જડત્લધણુણ ળોધો. 

૦૪ 

    
Q.3 (a) Define friction. Write the laws of dynamic friction. 03 

પ્રશ્ન. 3 (અ) ઘ઴ણણફ઱ની વ્મ ખ્મ  રખો અને ગતતક ઘ઴ણણન  તનમભો રખો. ૦૩ 

  OR  

 (a) Write advantages and disadvantages of friction. 03 

 (અ) ઘ઴ણણન  પ મદ  તથ  ગેય પ મદ  રખો. ૦૩ 

 (b) A pull of P inclined at 30º to the horizontal is necessary to move a wooden 

block of 250N weight placed on horizontal table. If coefficient of friction is 

0.2. Find force P. 

03 

 (ફ) વભબક્ષતીજ ટેફર ઩ય ઩ડેર  ર કડ ન  250N લજનન  એક બ્રોકને ખવેડલ  
ભ ટે બક્ષતીજ વ થ ે 30° ન  ખણેુ રગ ઱લ  ઩ડત  ફ઱ ‘P’ ન ુ મલુ્મ ળોધો. 
ઘ઴ણણ ાંક=૦.૨ રો. 

૦૩ 

  OR  

 (b) Explain different types of truss. 03 

 (ફ) ટ્રવન  પ્રક ય વભજાલો. ૦૩ 

 (c) Write assumptions made in analysis of plane truss. 04 

 (ક) ટ્રવન  પ્રથુ્થકયણની ધ યણ ઓ રખો. ૦૪ 
  OR  

 (c) Find forces in all the members of truss shown in figure 3 by the method of 

joints. 
04 

 (ક) આક્રતત.૩ ભ ાં દળ ણલેર ટ્રવન  ફધ જ ભેમ્ફયોભ ાં ઉત્઩ન્ન થત  ફ઱ો વ ાંધ ની 
યીતથી ળોધો. 

૦૪ 

 (d) A pull of 50N inclined at 30º to horizontal is necessary to move a wooden 

block of 215N weight placed on horizontal table. Find coefficient of friction. 
04 

 (ડ) વભબક્ષતીજ ટેફર ઩ય ઩ડેર  ર કડ ન  215N લજનન  એક બ્રોકને ખવેડલ  
ભ ટે બક્ષતીજ વ થે 30° ન  ખણેુ 50N ન ુખેંચ ણફ઱ ર ગે છે.તો તેન ુઘ઴ણણ ાંક 

૦૪ 
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ળોધો.  

  OR  

 (d) Draw SFD and BMD for beam as shown in figure 4. 04 

 (ડ) આક્રતત.૪ ભ ાં દળ ણલેર ફીભ ભ ટે SF અને BM ડ મ ગ્ર ભ દોયો. ૦૪ 

    
Q.4 (a) Explain relation between SF and BM. 03 

પ્રશ્ન. ૪ (અ) SF અને BM લચ્ચેનો વફાંધ જણ લો. ૦૩ 

  OR  

 (a) A rectangular beam 300mm×400mm cross section is simply supported over a 

span of 6m. It is subjected to UDL of 120kN/m over the entire span. Find 

maximum bending stress. 

03 

 (અ) એક 6m ર ાંફ  વ દદ યીતે ટેકલેર ફીભન  આડછેદન ુભ ઩ 300mm x 400mm 
છે. ફીભની ઩યેુ઩યુી રાંફ ઈ ઉ઩ય 120KN/m નો વભતલત્રીત બ ય ર ગે છે. 
ફીભભ  ઉઅત્઩ન્ન થત ુભશત્તભ નભન પ્રતીફ઱ ળોધો. 

૦૩ 

 (b) Draw SFD and BMD for beam as shown in figure 5. 04 

 (ફ) આક્રતત.૫  ભ ાં દળ ણલેર ફીભ ભ ટે SF અને BM ડ મ ગ્ર ભ દોયો. ૦૪ 

  OR  

 (b) Write assumptions made in theory of bending. 04 

 (ફ) ફેંડીંગ થીમયીની ધ યણ ઓ રખો. ૦૪ 

 (c) Draw SFD and BMD for beam as shown in figure 6. 07 

 (ક) આક્રતત.૬  ભ ાં દળ ણલેર ફીભ ભ ટે SF અને BM ડ મ ગ્ર ભ દોયો. ૦૭ 

    
Q.5 (a) At a point in material 200N/mm

2
 compressive stress and 100N/mm

2
 tensile 

stress along with 100N/mm
2 

shear stress are acting. Find normal, tangential 

and resultant stress on plane inclined at 45º with the axis of smaller stress. 

04 

પ્રશ્ન. ૫ (અ) ઩દ થણન  એક બફિંદુ ઩ય 200N/mm2 દ ફ-પ્રતતફ઱ અને 100N/mm2 ત ાંણ- 
પ્રતતફ઱ એકબફજાને ક ટખણેુ ર ગે છે. આ ઉ઩ય ાંત 100N/mm2 નો એક કતણન- 
પ્રતતફ઱ ઩ણ ર ગે છે. ન ન  પ્રતતફ઱ની ધયી વ થે 45° ન  ખણેુ નભેરી 
વ઩ ટી ઩ય રાંફ-પ્રતતફ઱, કતણન- પ્રતતફ઱ અને ઩યીણ તભ પ્રતતફ઱ ળોધો.  

૦૪ 

 (b) Find centroid for the lamina as shown in figure 7. 04 

 (ફ) આક્રતત.૭ ભ ાં દળ ણલેર તકતતન ુભધ્મકેન્દ્ર ળોધો? ૦૪ 

 (c) Find tension in the string as shown in figure 8. 03 

 (ક) આક્રતત.૮ ભ ાં દળ ણલેર મજુફ ત ાંણ- ફ઱ ? ૦૩ 

 (d) At certain point in strained material two perpendicular stresses 100N/mm
2
 

and 160N/mm
2 

both compressive are acting. Find normal, tangential and 

resultant stress on plane inclined at 30º with the plane of bigger stress. 

03 

 (ડ) એક તનરૂ઩ણ ઩ ભેર  ઩દ થણભ  ફે રાંફ દ ફ-પ્રતતફ઱ો 100N/mm2 અને 
160N/mm2 એકબફજાને ક ટખણેુ આલેર  તર ઩ય ર ગે છે. ઉ઩યન  
પ્રતતફ઱ોભ  ભોટ  પ્રતતફ઱ન  તર વ થે ૩૦° નો ખણુો ફન લતી ત્ર વી વ઩ ટી 
઩ય રાંફ-પ્રતતફ઱, કતણન- પ્રતતફ઱ અને ઩યીણ તભ પ્રતતફ઱ ળોધો. 

૦૩ 
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